Cumulative Revie: Chapters 1—-]‘.1

In Exercises 1-12 classify each statement as true or false.

1.
2.
3.

10.

11,

12.

13.
14.

15.
16.

17

18.

19.

29.

If point A lies on B_Cb, but not on E, then B is between A and C.
A true conditional always has a true converse. '
The statement “‘If ac = bc, then @ = &' is true for zll real numbers a,
b, and c.
If two parallel lines are cut by transversal ¢ and ¢ is perpendicular to one
of the lines, then ¢ must also be perpendicular to the other line.
If AABC = ADEF and LA = LB, then DE = EF.
If the opposite sides of a quadrilateral are congruent and the diagonals are
perpendicular, then the quadriiateral must be a square.

JF GB
If AGBS ~ AJFK, then %= G
The length of the altitude to the hypotenuse of a right triangle is always
the geometric mean between the lengths of the legs.
In any right triangle, the sine of one acute angle is equal to the cosine of
the other acute angle.

If an angle inscribed in a circle intercepts a major arc, then the measure
of the angle must be between 180 and 360.

The angle bisectors of an obtuse triangle intersect at a point that is equidistant

from the three vertices.

If JK = 10, then the locus of points in space that are 4 units from J and
5 units from K is a circle. '

Two lines that do not intersect are either _?_or 7.

In ARST, m£R = 2x + 10, m£S = 3x - 10, and m £T = 4x.

a, Find the numerical measure of each angle.

b. Is ARST scalene, isosceles, or right? Why? ‘

Use inductive thinking to guess the next number: 10, 9, 5, —4, —20, 2.
If a diagonal of an equilateral quadrilateral is drawn, what method could
be used to show that the two triangles formed are congruent?

A trapezoid has bases with lengths x + 3 and 3x — | and a median of
length 11, Find the value of x. 7

If 4, 7, and x are the lengths of the sides of a triangle and x is an integer,
list the possible values for x.

Describe the locus of poiﬁts in space that are 4 ¢m or less from a
given point P,

Two similar rectangles have diagonals of 6v3 and 9. Find the ratio of
their perimeters and the ratio of their areas.
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21.

22.

23.

24,

25.

26.

27,

28.

29,

30.

31.

32,

33.

34

35,
36.

37.

Given:ZEJ.B_C;BEJ_R‘;ZEEE B '7 18
Prove: ABCE is isosceles.

Given: Quad. EFGH,; EF = f_fa; EF | HG £

Prove: LEHF = / GFH A Ex. 21 b

Use an indirect proof to show that no triangle has sides of length x, y,
and x + y,

The legs of a right triangle are 4 cm and 8 cm long. What is the length
of the median to the hypotenuse?

If a 45°-45°-90° triangle has legs of length 5\/5, find the length of the
altitude to the hypotenuse.

The altitude to the hypotenuse of a 30°-60°-90°

triangle divides the hypotenuse into segments with
?

Find the value of x in the diagram. 5
In ADEF, miF =42, mcE =90, and —
DE = 12. Find EF to the nearest integer. (Use the —

Ex. 27
table on page 311.)
in right AXYZ with hypotenuse XZifcos X = — and XZ = 24, then to

the nearest integer XY = _? .

If a tree is 20 m high and the distance from point P
on the ground to the base of the tree is also 20 m, Q
then the angle of e]evanon of the top of the. tree

If PQ and PR are tangents to the circle and
me 1l = 58, find m£ 2. Ex. 31

R

AABC is an isosceles right triangle with hypotenuse AC of length 2V/2.
If medians AD and BE intersect at M, find AD and AM.

Draw two segments and let their lengths be x and y. Construct a segment
2

of length ¢ such that : = -2-;—.-

An equilateral triangle has perimeter 12 cm. Find its area.
Find the area of an isosceles trapezoid with legs 7 and bases 1! and 21.

a. Find the jength of a 200° arc in a circle with diameter 24,
b. Find the area of the sector determined by this arc. A

B and E ar¢ the respective midpoints of AC and AD. Given

that AB = 9, BE = 6, and AE = 8, find; B E
a. the perimeter of AACD _ '

b. the ratio of the arcas of AABE and AACD

b C D




NAME : DATE

Mixed Review
Chapters 1-12

Directions: Write answers in the ‘spaces provided. 7
1. Given AABC ~ ADEF, AB = 8, BC = 6, and DE = 18.

. In ATOP, TO = OP Ifml_T 42, find m£O.

a. FindEF. ______ '
b. What is the ratio of the area of AABC to the area of ADEF ?

3. Find the geometrlc mean between 12 and 4.

11,

. Ifallb ¢, find the value of x.

. Write the contrapositive of the following statement: “If two angles

of a triangle are not congruent, then the triangle is not isosceles.”

. A triangle has sides of Iengths 4,6, and 6\/5 Is the tnangle acute,

right, or obtuse?

. In quad. QUAD, 04 L UD, and QU = U4 = AD

a. What special kind of quadrilateral is QUAD?
b. fm£DQA = 62, find m£DAQ.

InNACAR, m£LC = 15x,mL A = 22x,andm/LR = 6x + 8.

Name the shortest side of ACAR,

. ABCD is a square with a diagonal of length 6.

a. Find the length of a side.

b. Find the area of the square. '
10. Find the value of x.

: 4

(14x + 2

(15x + 4)°

Y

MN is a median of ALMP. If m£MNL = 75, which is longer, LM ~
or MP? .

SCORE

12. A right cone has volume 100w and h'cight 12. Find its total area.
13. Name the property of equality illustrated by the statement “If
RS + ST = RT, then RT = RS + ST.” -
(continued)
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NAME DATE . SCORE

Mixed Review (continued)

4.

The length of an altitude of equilateral ALAT is 53, Find the
perimeter of ALAT. ____ '

In Exercises 15 and 16 use a scientific calculator or the table on page
311 of the textbook.

15.
16.

17.

18.

19.
20,

21,

AABC is a right triangle with right 2C. If BC = 24 and

AC =1, find the measure of £ A4 to the nearest integer.
A 15 ft ladder leans against a building with the bottom of the

-ladder 6 ft from the building. Find the angle (to the nearest

degree) that the ladder forms with the ground.

A base angle of an isosceles trapezoid is 45° and the lengths of the
bases are 12 and 18. Find the area and the perimeter of the
trapczoxd :

area = ; penmete.r = _ .
Complete the proof by supplying the missing reasons. A F B

Given: 5ABCD; oFBED :
Prove: AAFD = ACEB | | '

Proof.

Statements ' Reasons

el A

S @

HABCD, FBED

LA=/LC |

4D =BC

L AFD and £BFD are supplementary;
LCEB and £LDEB are supplementary.
. LBFD = LDEB ‘
6. Z.AFD LCEB o 6.
7. AAFD = ACEB .- : 7.

L A e

L

A 45°-45°-90° triangle has legs of length 6 VZ. Find the length of

the altitude to the hypotenuse. _
The legs of a right triangle are 6 cm and 8 cm long. What is the

length of the median to the hypotenuse? :
Describe the locus of points 5 cm or less from a given point P.

k continued)
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NAME _ ' CDATE___ SCORE

- Mixed Fl_eview (continued)

22. PR is tangent to OO at R. A secant from P to QO intersects the
circle first at point 4 and then at point B. If BP = 10 and RP = 8,

findBA. .. ‘ A-

23. In AABC, ADbisects LCAB. Find the value of x.
' . : ' ‘ 12 / - 18

*

C 2x+86 D 2x + 1 B
Ex. 23

24. A cylinder has radius 8 and height 12. Find its volume.
25. Given OO with chords EF and GH. IfmGF = 82 and
mEH = 160, findmLEIH. ____

B

26. In AABC, CM and AN are altitudes. If CM = AN, which B

congruence postulate or theorem can be used to prove
AACM = ACAN? M N
A C

27. Predict the next two numbers in the sequence:

1 1 1
L mnie e
28. Find the value ofx in AABC.

24

c ‘ .
- Ex.28

29, A sphere has diameter 8.4 c¢m. Find its surface area to the nearest

| Square centimeter. Use .= 3.14, ,
~ 30. The areas of two similar prisms are 100 cm? and 25 cm?. What is

the ratio of their volumes? e '
31, In AABC, medians AD, BM, and CN intersect at P. If CN = 48,
find CPand PN. CP_ , PN "

32. A point is chosen at random from the interior of right ARST With
right angle §. If M is the midpoint of RT, what is the probability

that the point is in the interior of ARMS?
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You have just finished an overall review of Geometry. Some other areas which you may

want to consider reviewing are:
¢ the Pythagorean theorem and its converse,
» special right triangles,
e areas and volumes of solids and their formulas,
 and proofs starting with only "the given" and “the prove.”

We hope this review helps you prepare for the exemption exam. Please make sure you also

review your own tests, notes and your textbook. Best wishe_s.

[

PROSWERS"

Chapters 1-12 1,a, 135 b. 16:81 2. 9

3. 4V3 4, Ifa/\isisos., then 2 4 of the A are =.
5. obtuse 6.a. rhombus b, 62 7. AC - )
8.a. 3V2Z b 18 9. x=% 10 x=6. 1L MP
12. 90w 13. Symmetric Prop. 14. 30 15. 74
16. 66 17. 45;30 + 6V2 18.1. Given

2. Opp. sof gare =, 3, Opp. sides of 7 are =, |

4. Z Add. Post.; def. of supp. & 5. Opp. 4 of 7
are =, 6. Supps.of = Aare=, 7. AAS Thm.
19. 6 20. Scm 21, asphere with center P,
radius 5, and its interior 22. 3.6 23. 2

24. 768w 25. 121 26. HL 27, L. —-L~
28. 4 29 222cm? 30, 8:1 31, 2C5?’ = -3!(2),24

PN=16 32, 4
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